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EX: A4 ns
PSS N -y ="
el ALY =X CER-ED
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
A48 WNE D 23,918,930 22,939,052 979,878
2 508,301
g 5,273,000
< 452,660
= 17,684,969
RS- L =1y 8,917,913 6,622,607 2,295,306
= 208,432
g 500,000
< 25,997
= 8,183,484
A8y =X 2,153,171 703,378 1,449,793
Fag 500,000
o 10,364
= 1,642,807
A8 X 109,900 83, 100 26,800
201 et 9| 3,000 3,000 0
02 2324 3,000 3,000 0]
OZIDSAHANL FAEx 3,000
202 o4 | 10,500 10,500 0
01 2L I 10,500 10,500 0
OALEHLFA L EHZ D2 EH| 10,500
203 €2 F=&d| 2,000 4,000 A 2,000
03 AIEH =X 2 F XY 2,000 4,000 A 2,000
OHEHHIR F4& 2,000
303 ZAZ2 7,800 7,800 0
01 ZAZ2 7,800 7,800 0
Otz &2 A&X As 650,000& 12X 7,800
401 Al H L 2Ol 86.600 57,800 28,800
01 Al&Hl 86,600 57,800 28,800
O £+=2HA WA X 15,000, 000& *12] 15,000
O20IHA S2E &K 8,600,000 *6IH 2 51,600
O20|HA S2HE B4 20,000
c2 A 775,015 545,924 229,091
201 2Et24Hy| 163,685 157,784 5,901
01 AP 22| d| 86,198 82,253 3,945
O22&E23H € HAZPR S|
8,000 x21H x45! 7,560
O&dHtz @=L 2 3,000
OEZ2HHEAIEREAL 29 1,624
— &%) 2= 52,000& ~12& 624
—A2ARE 322 1,000
Og8xxe Adx=2 4,900,000 x30H x4 58,800
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H-E8 . pe ASAY - HES Ol &+ o4 il 2
OE2FH= 14,964
— Bl 1,864
—W=2e 18,0002 » 1004 1,800
—UsSHEEHXNE M=E=D0E 800,000& *22& 1,600
— =40 350,000& 3 X 1,050
—JIAS 50,000& =104 500
— 1XE 35,0002 =104 350
—H&D 260,000 *304 7,800
OE 23| Zdl HI|&EE =2 250
02 3322l 77,487 75,531 1,956
O&x)| 1,500, 000& *2CH 3,000
O&k=zaZ| 5,200
-3 (CAPS)E A=
135,000& =12 1,620
—daes 30,000& x12& 360
—dIIReRa 2,500
—tA7Y 50,000& x12& 600
—&otxk 23 10,000& =128 120
OM=Jl & 5 5% 7Y
1,5423 +504 »3CH+63 1,388
Oxg *F0U 40,783
—gZEH ,338& x4502 «2CH =102 12,042
— =40 ,338& %200 *1CH+10& 2,676
— A" ESXE ,338& x250¢ «2CH=10E 6,690
—U=sdssx ,338& x200¢ *1CH+10& 2,676
—gIZE () 1,338 6904 *3CH*4& 11,079
—AJE2H 1,338 %3004 »1CH+43 1,606
—SEESHE 1,338& %3004 *1CH*10& 4,014
O=cltl 13,000
—gDEY 1,500, 000& »2CH 3,000
—AgstExE 1,000, 000& »2CH 2,000
—U=sdsEx 1,000, 0002 = 1CH 1,000
— =4 1,500,000 =1 CH 1,500
—AJE2H 1,500, 000& = 1CH 1,500
—Xgs 1,500,000 *2CH 3,000
— =83 1,000, 000& = 1CH 1,000
OEt01 0 12 4,500
—goEd 4,500,000 = 1CH 4,500
O FH| HolH#EH SFRUH(HLSR)
1,5423 %204 90 2,776
OZ23H L HdolitHHEH RAES 5,000
oegd 8763 74 & 3002 & 1,840
206 M= Hl 108,940 103,940 5,000




M. 0 (3H) - HEAY - B2 ﬁlf& HD=2
01 X2 bl 108,940 103,940 5,000
ot g32s 250,000& *259& 64,750
ol A2 130,000& *263& 34,190
OE= SANEL E35E 5,000
O&aolithz 232 5,000
207 AT IH £ h| 40,000 0 40,000
01 A72s<H| 40,000 0 40,000
oRdadII=2H a2 40,000
301 dEtE A= 30,590 23,400 7,190
12 JIEtE &2 30,590 23,400 7,190
OH&E&EY R 24 230,000& *133CH 30,590
401 Al HIL 200 173,800 139,800 34,000
01 Al&H| 173,800 139,800 34,000
O FTREZ EHIJNEY 76,800
Oz EX& &X 2,000, 000& =150 A 30,000
OEzZEXE B4 10,000
Onxsexge 4x 4,500,000& *x6IH 2~ 27,000
OZg =2t &4 20,000
Oz EI sX&a 666,666& *15H 2 10,000
405 KHo&HFE S HI 258,000 121,000 137,000
01 JHAHY 2 Z 5 S H 258,000 121,000 137,000
OEdH H&DI 3,600,000& *30CH 108,000
Oz HIXE & U+ 150,000
2TR ML 22l 2,800 50,687 47,887
201 et A | 2,800 2,800 0
01 AFR 22l bl 2,800 2,800 0
O 80,000) x20& X| 1,600
OsE 15,000 *60& X| 900
O=2Z2MAZ2] AIRES S H| 300
HASLE B2 ZGAE 9,346 10,877 A 1,531
= 2,804
= 6,542
401 Al HI L 2 0HHI 9,346 10,877 A 1,531
= 2,804
= 6,542
01 A& HI 9,346 10,877 A 1,531
OHASZE EBHLEE ZFAIA
1,335, 142& 74 4~ 9,346
& 2,804
- 6,542
HASHE SFASIOT AX 15,120 0 15,120




EX: A4 ns
PSS N -y ="
el ALY =X (el @2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 7,560
= 7,560
401 AlEHIZL £ 0HY| 15,120 0 15,120
= 7,560
= 7,560
01 Al&H| 15,120 0 15,120
OHAS2LE EHASIOIR AX| 15,120
& 7,560
= 7,560
HASUE BtASHOT AX(XHA) 12,990 0 12,990
401 Al HI L £ 0HHI 12,990 0 12,990
01 Al& H| 12,990 0 12,990
OHASZLE ESASE IO A X 12,990
S A THA AN 27,000 0 27,000
101 e1214| 24,000 0 24,000
04 J|12ZtHIZ22NEES 24,000 0 24,000
OX= TAMMM X)4MAEH 29 ol24]
2,000,000& *120 & *1H 24,000
201 et | 3,000 0 3,000
02 222%4| 3,000 0 3,000
OX=3 TAMM XNJEE 29|
3,000,000 =14l 3,000
F=XEHENLA KR ALS 1,201,000 0 1,201,000
= 500,000
= 701,000
401 Al HI L £ 0HHI 1,201,000 0 1,201,000
= 500,000
o 701,000
01 Al& H| 1,200,000 0 1,200,000
O¥%x BEFIE =4 1,200,000
Fag 500,000
= 700,000
03 AlE 201 Y| 1,000 0 1,000
OAI& 20| 1,000
T Al DI B 1,978,930 2,500,630 A 521,700
S A 22l HE ALY 93,270 87,270 6,000
201 LBt Y| 62,070 62,070 0
01 AP 22| d| 22,350 22,350 0
OQdioldEZIH AR2S ¢ 400,000 *33| 1,200
OEAI 2l AHE O =012 MESDE
1,500, 0003 2 AF*43] 12,000
ORA=HE 28 2 9,150




2N

M X EE
CHRl: S AlD| Bt (e H)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
— D HERARG FAE LG 150,000 x7H *33] 3,150
—ZHERAG 2URAIE AAIE
100,000 x5 x123] 6,000
02 2224 39,720 39,720 0]
OZAHEHEMAH(UPIS) DB & s 5t 22,000
OZAHE XS HAH(UPIS) EAAAE SX 22 17,720
202 044 11,200 5,200 6,000
01 2L HI 11,200 5,200 6,000
O HE PR F&X 11,200
401 Al HI L 204 HI 20,000 20,000 0]
01 Al&H| 20,000 20,000 0
OZAIXNEY 22ANEES FAES 20,000
EAMSXAEH 22 155,000 5,000 150,000
201 B9 5,000 5,000 0
02 2224 H| 5,000 5,000 0
OSNMSXSHE 2 5,000
401 Al HI L £ 0HHI 150,000 0 150,000
01 Al& H| 150,000 0 150,000
OENMESXNHHMEH AIE2=S AH| 150,000
A= 2 2L HYE 22 72,660 262,660 A 190,000
201 et d| 42,660 42,660 0
01 AFR 2t 2| bl 1,380 1,380 0]
OHY &It =2 115,000 »12& 1,380
02 Z2=2=24%4| 41,280 41,280 0
OrspliTr=; 3,300,000& x12& 39,600
Odsle=2 1,680
—HY LM RS 10,000 x12& 120
—ME23 N MRS 130,000& 12& 1,560
401 AIEHI 2L 2 0HY| 30,000 220,000 A 190,000
01 Al&H| 30,000 220,000 A 190,000
OHY or® & Chy| 30,000
SCAHECEZAS 803,000 803,000 0
401 AlEHIZL £ 0HY| 803,000 803,000 0
01 Al&H| 800,000 800,000 0
OZH YER(A22-9/2-23) & 2 At 300,000
OXxg8 HAE2 QAT HH| HE 300,000
O&4 EES2(A23-26/3-32) 2K 7 HE Z2 At 200,000
03 Al& 20 Y| 3,000 3,000 0
OFH HARZ(AR2-9/2-23) M Z2A EUHb] 1,500




SN AEDS
BB Ko
chelt A

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OFe SSZ(A223-26/3-32) 2K 7 HA B A

24l 1,500
WLHZRAIS Sx 55,000 0 55,000
401 Al Bl 20 HI 55,000 0 55,000
01 A& HI 55,000 0 55,000

O =sT2 HYE 55,000
g AMA XNES3HAFS 500,000 1,000,000 500,000
403 ItXIHAMSA201 A 500,000 1,000,000 500,000
02 SII2SO0lCHst X2 500,000 1,000,000 500,000

OXx=g AKX K=t 500,000
AAHSES2HEE JIBLAIE X ALY 300,000 120,000 180,000
401 AIEHIL 20| 300,000 120,000 180,000
01 A& HI 300,000 120,000 180,000

OEHSE23HEH JIEtAIE 4 300,000
PNRS-DJ = N pea! ,348,907 3,418,599 930,308

= 208,432

< 15,633

= , 124,842
A2 KNEHLAS ,280,000 2,188,400 A 908,400
401 Al HI L 2T 280,000 2,188,400 908,400
01 Al bl ,275,000 2,183,400 A 908,400

O+ 382,000

—SZE 02321 5,000

—IE sz ¥ 10,000

— = Hix==2 & X 20,000

— Z=Hl ti==2& X 7,000

— 2 =2 & X 20,000

—AJ| Hi==2 & X 60,000

—ADJ| Mgt L E 70,000

—2AS5A =2 &X 55,000

—AA Hix=2& X 10,000

— 72 =2 & Xl 20,000

—SH s2Zd % =2 & Xl 20,000

—AEH OtAZE HER 20,000

— %S otAE MHEE 25,000

-3l s22LH 20,000

— 2 S2XZH 2 =2 & Xl 20,000

OdtMH 254,000

— A E =2 & X 18,000

—2E 24X (2 A) 20,000

-1 S22 25,000
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AN ALNSH
A NEHY
S XS AY

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OBYH =32 == Ss2EE 15,000
OFAY FYel & AEE 20,000
OAEY &3e 38 s22H 10,000
OAHEY dHel 83 =2 &X 25,000
OHEY sAiel s s2EE 10,000
FRUEAANL &5 8,700 13,020 N4,320
201 Let24] 3,500 7,020 N 3,520
01 At 2t 2l 3,500 7,020 A 3,520
OARZAIY S, EHLSF Sl
8,000& »3H +50 1,200
OAZEN KX 22l 1,100
—Wg Z208 AIE22 1,100
O&H =g MT 2| 700
O&H Zgyd 225 widl 500
202 04l 5,200 6,000 A 800
01 = LH 4 Hi 5,200 6,000 A 800
OAnle XNGLA - XNGMLAY =2 5,200
EEEFHIFAAZ 95,667 91,179 4,488
401 A& HIZ 201 Y] 95,667 91,179 4,488
01 A& HI 95,667 91,179 4,488
O8EY FHIFAY 95,667
ANAHs M AHEAMNG (REHE FHNNS = 260,540 85,000 175,540
Jlgt)
2 208,432
< 15,633
s 36,475
401 Al HIZ 201 Y| 260,540 85,000 175,540
= 208,432
= 15,633
fia 36,475
01 A& Bl 260,540 85,000 175,540
OdsolEt HEAE FHI 260,540
= 208,432
< 15,633
[ia 36,475
FUE OOl &AL 1,490,000 0 1,490,000
401 Al HIZ 201 8] 1,490,000 0 1,490,000
01 A& HI 1,487,000 0 1,487,000
OotZE0tE OtA2HM LI At 20,000
OoteitE =2 XA 30,000
OAlEDE O0l3 EXIAY 10,000
OUE0S =2 XA 31,000
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Hal: XeH

Sl NGHL A

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OZF0t2 =2 XA 30,000
OFttel s2Z2F ALY 13,000
OgHel =2 & X At 20,000

C=cl OIS OtAZIM 2] A Y 25,000
O&H0IE =2 HHlAY 40,000
OUEDES 0tA2 INRIALY 10,000
Ossitsetz A5 B2 AY 10,000
OgJits et A= FHU A 11,000
O3&0ts =x& &2 Mg 6,000
Oss0t2 sti=2 ¥ JtEdd XS 24,100
ONB0IE s2&2F A 7,200
OEr=0t2 =2 &X SAt 17,500
Ot E =2 HUIAEY 21,000
OEYsE th==2 4X 20,000
O ELNE =2 HAH SA 15,000
Os10t8 s+=2 HAH SA 12,000
O70IES =2H?E =2 A 19,500
Ot E0E sii=2 HAHSA 16,500
OAMELlE =22 d8HA 28,200
O=&0E8 s+=2 ZHI3A 18,000
O=Z0t2 JtEd g 4X € =2 Z& ZA 18,400
O=L0IS E4tE =2 IS A 19,000
OAg0ls s2 ZF Z2A 12,000
OLtis sgHd & =2 G0 €% &

MgD HotE X1 BA 10,000
Of==0t2 s22+ 3A 23,700
Od20t= S0H =2 EHISAt 22,800
OxH0g s22% L AF5ZA 19,600
Oot=s0tE2 HRE2E =21 L 45 44X 3

At 26,500
O30t Actd FZHISA 30,000
OFZE0IS =2 Zdl SAt 20,000
OHEYZ =2 &X SAt 40,000
OuDIbE s2&2F SA 15,000
O2a0E == =2 EHIAZ 30,000
OZgel RAIE2 =2 FUIAY 30,000
OSSOt &g ZHESA 15,000
OKMBIOlE sZ2EZ ZA 20,000
Od=0I2 etz &Z2F ZA 50,000
OZ2del ZZ0s A= FUAY 30,000
OFEOIE AF3A 12,000
O&FHDIE =2 &X 8,000
OZAOE s22F 5,000
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EX: A4 ns
M T2 AL 22
o9l 25 - =0E &2 CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
02 2224 H| 5,400 0 5,400
OdIIe=2 400,000 x6& 2,400
O&ED| otN2E|HE =2 3,000
401 AlEHIZL 201 Y| 50,000 260,000 A 210,000
= 20,000
= 30,000
01 Al&H| 50,000 260,000 A 210,000
OXxg HdEel AT A 50,000
= 20,000
= 30,000
Alge 22l 301,000 452,000 A 151,000
2E ¥ SHEZZE KA 301,000 452,000 A 151,000
401 AlEHIZL 2 0HY| 301,000 452,000 A 151,000
01 Al&H| 300,000 450,000 A 150,000
O & sHEZ2 Ul Z2A 200,000
o=t 2 sHEEZZ A2 100,000
03 AlE 201 Y| 1,000 2,000 A 1,000
O 2 sSHESZ SX22 AIZE20] 1,000
SENME D= 9,240,822 7,737,263 1,503,559
= 257,000
Ry 4,423,000
& 286,750
o 4,274,072
=D EtA Y| 4,984,500 4,451,000 533,500
iy 1,861,000
= 286,750
= 2,836,750
sHI|BLAIE &= 800,000 200,000 600,000
401 AlEHIZL £ 0HY| 500,000 0 500,000
01 Al&H| 500,000 0 500,000
OZX&EelXF SHi+==3H| 500,000
403 XX SHHMS K201 & 300,000 200,000 100,000
02 2| 2S0 et =22 EAS Y 300,000 200,000 100,000
020198 =sgIIBAIE S22 A 300,000
I Z=ME TR (I HSIEEZR) 186,000 300,000 A 114,000
g 130,000
= 28,000
= 28,000
401 AlEHIZL 2 0HY| 186,000 300,000 A 114,000
= 130,000
== 28,000
= 28,000
01 Al&H| 186,000 297,840 A 111,840




= _ — d =
SN FH-SA(EN) - MBAY - BES e HlnE2
OJIAZ=Z =tEH 186,000
s 130,000
< 28,000
s 28,000
SYIIB I (LIIBHEEIALY) 437,500 375,000 62,500
ras 350,000
< 43,750
[ia 43,750
401 A& HIZ 201 8] 437,500 375,000 62,500
s 350,000
< 43,750
[ 43,750
01 A& HI 437,500 372,300 65,200
O JIEHEHI ALY 437,500
s 350,000
< 43,750
s 43,750
SIS EH (MLl AIEHE ) , 730,000 1,760,000 /30,000
s ,381,000
s 349,000
401 Al HI K 201 , 730,000 1,760,000 230,000
s ,381,000
[ia 349,000
01 A& Hl , 727,000 1,754,000 A 27,000
Oz=&el =C2lAd HESAY , 727,000
ras ,381,000
i 346,000
03 Al =2 THHI 3,000 6,000 A 3,000
O=z2el =2lAlE HE=AY 20l 3,000
A2 =HE AL ,501,000 1,503,000 A 2,000
401 AIEHI L 20 ,501,000 1,503,000 A 2,000
01 A& tl ,500,000 1,500,000 0
OARE i==IH&E ALY ,500,000
03 Al 2 THHI 1,000 3,000 A2,000
OA7SL ==& ALY A0 1,000
SO AY 250,000 0 250,000
< 175,000
[ia 75,000
401 AIEHI L 2 CHYI 250,000 0 250,000
< 175,000
[ia 75,000
01 A& HI 250,000 0 250,000
OZX=0t2 ==ofl Il off Ol & AL 60,000
= 42,000
s 18,000




AR R~ N =
N sELE O =
SR =PICTE- Tt (B9 ®R)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
OTE0t= =2 FHIAY 50,000
S 35,000
[Ea 15,000
OAtEOtE EHi+=2 FHIAY 35,000
S 24,500
= 10,500
O=Z0t= =2 FHIAY 20,000
= 14,000
s 6,000
OULScIzE 27 -2 XA 20,000
S 14,000
= 6,000
OXNIOtE =2 FHIAY 20,000
= 14,000
s 6,000
O0&OtE =2 EX3AM 20,000
= 14,000
= 6,000
OANEOts ==& & =2 £X3A 25,000
= 17,500
[Ea 7,500
ISHAKY AH B4R HLAL 80,000 0 80,000
= 40,000
= 40,000
401 AIEHI L 2CHYI 80,000 0 80,000
= 40,000
= 40,000
01 AlZHI 80,000 0 80,000
OINSHANSY AR SN AL 80,000
< 40,000
[Ea 40,000
=z M8 I 3,896,672 2,973,625 923,047
= 2,562,000
[a 1,334,672
R DI ETRTETE Y 20,972 22,925 A 1,953
201 2Bt | 15,272 14,325 947
01 AtR 22l | 1,100 6,920 25,820
OJlzsSE=E 1=l 200,000& *3&H 600
OsgIILAIE 23 82 & 42257¢
50,000& =102 500
02 S3=29Hl 14,172 7,405 6,767
ONzs DAHYR NHSXHAl X EIIB A 100
OJ2E AaXAXN RFU
1,338 +3804 =122 6,102
OJlzs DAHHX =X 2l 1,500
OX=X g=+=238 dllz 1,000




AN ALNSH

B SEME MRS
Sl mE MBEY I (S &2)
5 - 4
A FB B (EN) - HRAY - BES 0l &t o il HImEET
Osgs8+ =ZZA 5,470
202 044l 5,700 8,600 A 2,900
01 = LH 4 1l 5,700 8,600 A 2,900
OsSEANEYER =& 5,700
lzs 2l 213,700 198,700 15,000
201 Let249] 12,600 12,600 0
02 2324l 12,600 12,600 0
OJNz2s RHIAMAALE S4H|
4,200 *250CH =123 12,600
206 = Hl 30,000 30,000 0
01 MHZ 4l 30,000 30,000 0
ONzs BTN 72 30,000
401 Al HIZ 201 I 171,100 156, 100 15,000
01 A& HI 170,000 155,000 15,000
OJN2E EXSA 135,000
OJt2E EHAE 35,000
03 AlE 2 THHI 1,100 1,100 0
OJNZ2EAY bl 1,100
Jl=Meaolme(Mestd ) 3,662,000 2,730,000 932,000
s 2,562,000
i 1,100,000
401 Al HIZ 2018 3,662,000 2,730,000 932,000
s 2,562,000
i 1,100,000
01 A& HI 3,660,000 2,720,000 940,000
OMEsZHHI ALY 3,660,000
—HAX TP MEHAFY 523,000
s 366,100
i 156,900
— AR MESHF 523,000
s 366,100
[ia 156,900
— BN HEEH I 523,000
as 366,100
e 156,900
— AN HESHF | 523,000
s 366,100
[ia 156,900
— N7 HEEH I 523,000
s 366,100
e 156,900
—HEXT ME8FF 523,000
s 366,100
s 156,900




FAM: A4S
Y sEME MRS
&He: =& 43 F (&)
SA - ZE-B(EA) - NRAY - B S il &t o il RS2
—HEXTF 423HF 522,000
s 365,400
[ia 156,600
03 Al S HHI 2,000 10,000 A 8,000
O ZHHIAIE AIZ 204 2,000
AHH 84T 359,650 312,638 47,012
= 257,000
s 102,650
LT D F2AME ZHES 23,250 20,988 2,262
101 @124l 23,250 20,988 2,262
04 JIZHHZ2Z2XNSE+ 23,250 20,988 2,262
OM=X |X 2z 23,250
— &= 66,8003 x6H 74 & 2,806
— &AM 66,8003 *9H « 104 & 6,012
— g 66,800 x6%H »1JH & 401
— A 66,8003 x8H x84 & 4,276
— & 66,800 *8H »8IH & 4,276
—Ag 66,8003 x6H *3J4 & 1,203
- A= 66,800 *8H »8IH & 4,276
=clH |2 11,700 11,700 0
307 glz2+ol & 11,700 11,700 0
02 It HAHEE 11,700 11,700 0
O=clA |X 2 11,700
StUHHI =01 321,000 276,250 44,750
= 257,000
s 64,000
401 A& BIZ 201 8] 321,000 276,250 44,750
= 257,000
s 64,000
01 A& HI 321,000 274,300 46,700
OstL il =& At 321,000
= 257,000
s 64,000
stofl &Hl 2=J| FX &2 3,700 3,700 0
201 Let249] 3,700 3,700 0
02 =224l 3,700 3,700 0
Ostolf &Hl 2==I] |Xl 22t 3,700
— &8 2=I SN2l 600
— &AM 2T S 2l 700
—HYH 2x)] S22l 500
—ZAY 220 KX 2l 400
—d3dH 2= FA 22| 500
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SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

EJ
om
e
Pl
ua
>
E_I
on
x
Pl

o
EJ
2

100,000
e &xl 3,000, 000& 204 2~ 60,000
311,177

£ x8s &1 40,000
SHEotollet 23X 50,000,000& #2H 2= 100,000
A2 15,000

g
o
o

Ofot
m

[
I

O O O O O O
i
F_;L
I
e
]
=
>
H
Iz
oin

<Q
o
o
HT
fol
1
19
>
nx
x
ﬂ
He

Olot
m
HE
H
p=4
v
1n
o
A=
x
ﬁ
=
114

15,000 0 15,000

4,500
10,500

M

401 AIEBIZ 2 CHYI 15,000 0 15,000

4,500
10,500

M

01 A& HI 15,000 0 15,000
O8HEL OFAEZI EXAS
5,000,000& *304 2~ 156,000

4,500
10,500

EUNE

sns XN 2,798,627 2,377,565 421,062
42,869
350,000
82,413
2,323,345

RN R =VRY)

a2 =s X 193,599 195,082 A 1,483

78,653
114,946

M

301 LELE A= 2,000 4,288 N2,288
600
1,400

EURLY

12 B2 a3 2,000 4,283 ~2,288
= 2,000

600
1,400

o
In
1
1
by
al
o

M

307 21201 & 191,599 190,794 805

78,063
113,546

EUNL

=bCES] 191,599 190,794 805
OSHEHA WEX 189,223
77,340
111,883
2,376

713
1,663

M

O
jTu
>
fo
il]
N1
n
M
ne
o
O
>
U
bl
{0

Mo

iml

Ot

S PURPNE- 75,571 66,000 9,571

20,000
55,571

M

307 glz2tol & 75,571 66,000 9,571




AN A4S0
My DEHF N
g9 sns XN (&)
5 - 4
A FB B (EN) - HRAY - BES 0l &t o il HImEET
= 20,000
s 55,571
05 RIZtE = 75,571 66,000 9,571
OHMe SEHAl 24| 75,571
= 20,000
[ia 55,571
EHAIZ X K& 39,000 13,000 26,000
= 11,700
s 27,300
301 et A= 39,000 13,000 26,000
= 11,700
= 27,300
12JIE243 39,000 13,000 26,000
OHAl XtE2x 2E&4XA 13,000, 000& »3CH 39,000
= 11,700
s 27,300
==X 700,000 0 700,000
s 350,000
s 350,000
301 gt L= 150,000 0 150,000
s 75,000
s 75,000
12 JIEBHE4 = 150,000 0 150,000
OH=ZSEAl XI& 150,000
s 75,000
[ia 75,000
307 21201 A 550,000 0 550,000
s 275,000
i 275,000
02 QB HAANGFEX 550,000 0 550,000
od==sdA XA 550,000
s 275,000
s 275,000
HAZBAIAE(BIS) 29 21,100 3,308 17,792
308 MtXIEHSOIH 21,100 3,308 17,792
1037/ 2S0HUHeSB S HAE ALS HI 21,100 3,308 17,792
OHAEBAIAE(BIS) RAE42HI 21,100
sns 2SN 54,677 93,426 A 38,749
101 14 dl 3,574 44,126 A40,552
04 DI 22 XRHEE S 3,574 44,126 A 40,552
OZ3E2H0IE &Y FalAH| 3,574
—Jlzs 66,800& 52 3,474
—S8= 100
201 L2l 34,103 32,300 1,803
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AN A4S0
M DsHE A
g9 sns XN (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 At 22l 28,400 25,500 2,900
OEAOIE 288 50,000 «35CH =12 21,000
O32HOIY S22 (22E 5) 5,000
O3E8H0OlE &= 150,000& »20H A 8 2,400
02 2324l 5,703 6,800 21,097
Ouns ¢=sxXtg CCTVRXIE 2 300,0008 128 3,600
OZEHOIE HERRF 8763 *1,2004 =24 & 2,103
207 O] 17,000 17,000 0
01 289 17,000 17,000 0
OsUHE BlA XA 17,000
#IIExz N 627,000 627,000 0
307 21201 A 627,000 627,000 0
09 2+=HAHEBEXS 627,000 627,000 0
ORIHMEZ=Z X3 627,000
- oA 1983 x21,8864 »12& 52,002
— 32 3463 +138,486.94 *12& 574,998
SHEHAXEA 1,054,542 1,090, 964 N 36,422
307 21201 A 1,054,542 1,029,114 25,428
09 2HAHAEXS 1,054,542 1,029,114 25,428
O"Xl - = &8 A4 748,628
Otedes &42Y 305,914
OHA HE =22 K& 0
NZ2O0IEZDEX T BZAY 800 3,200 A 2,400
= 400
< 160
s 240
402 2I2H X201 M 800 3,200 A 2,400
2 400
< 160
s 240
02 QI EAILEZ (01X S) 800 3,200 A 2,400
OXNZOIEZDEX &2 EXAY
500, 000& *2CH *80% 800
= 400
< 160
i 240
M4XE Al MYEFSEE S AEHZA 20,000 0 20,000
= 10,000
s 10,000
207 SO0 &l 20,000 0 20,000
= 10,000
s 10,000
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AN A4S0
M DsHE A
g9 sns XN (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 2284 20,000 0 20,000
OMAXt BHAIEY AEHHEMN EY
20,000,000& =13l 20,000
= 10,000
e 10,000
HARHDE = M2£H N ALY 10,800 0 10,800
< 3,600
s 7,200
402 2I2H X201 M 10,800 0 10,800
< 3,600
s 7,200
02 QI EALEZ (OIS ) 10,800 0 10,800
OHAHDIE =& MZ4Hl X
5,400,000 *20H 2 10,800
< 3,600
s 7,200
HACHAHOIE ALY 1,538 0 1,538
= 769
s 769
405 XHobF S HI 1,538 0 1,538
= 769
s 769
01 HatH ESFH S 1,538 0 1,538
OSEZIIINAENEH & 769,000 «2H 1,538
= 769
[ia 769
WSsSEMEE 6,860 6,080 780
NEsZNEE 6,860 6,080 780
307 glz2tol & 6,860 6,080 780
02 M AHE X 6,860 6,080 780
O=sM0LI3 XI& 4,560
ozg=2&8xt3 XI& 2,300
ANWs BHAXA 49,500 201,101 A 151,601
< 33,000
s 16,500
SSHEHAl KT & A 49,500 49,500 0
< 33,000
[ia 16,500
301 et a 3z 49,500 49,500 0
< 33,000
s 16,500
12 JIEHE4 = 49,500 49,500 0
OSsteAl X3 A 49,500
= 33,000
[ 16,500
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HEWNEH
HE2IAZH (AL nS)
el 2| )
4 L
S EH () NEANY - BES Ol &4 e 2
HE2IZH (AL nSH) 43,176 42,716 460
ol 2d | 6,100 5,100 1,000
ol 2| 2,000 1,000 1,000
101 @124l 2,000 1,000 1,000
03 RIAHA2Z 2T 2,000 1,000 1,000
OEXNE&YR =& 1,000
OJt2&E |AZel ol 1,000
T2 29 4,100 4,100 0
101 @124 dl 4,100 4,100 0
03 RIAHAZ2HE = 4,100 4,100 0
O&EZ ®A&el bl 2,000
Oz zeld Il=l 2,100
— I =8l 150, 000& »7H 1,050
— Ot& 3t 150, 000& »7H 1,050
|23 bl 37,076 37,616 A 540
Jl23Hl 37,076 37,616 A 540
201 £B-2dH| 20,096 19,616 480
01 At 22l 19,236 18,756 480
otEzr=EZ 600,000& *x4= | 2,400
O=AEX 22,9003 x20t A %12 5,496
O=SAI Xtz 770,000& x12& 9,240
OAMEESHI 1,500
O&F=J 2z 50,000& 123 600
02 =224l 860 860 0
OAtS & FHl 500
O=E GPS EENE 48 0lsSER3
30,000& 128 360
202 oddl 12,000 12,960 A 960
01 = LH o4 1l 12,000 12,960 A 960
ORNE2E =UWHHH 12,000
203 YR =&l 4,980 5,040 A 60
04 EAN2IHRF=EHI 4,980 5,040 A 60
ORNM2E YR 415,000& x12& 4,980
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